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7J(?7J(§-A\§»?j :'%;J--f‘-'r

ATEAN

su] kB (OD) [Axps KE A wf g o

1 Wq=Q 1Uq 1z 7 =WaxUgxA

2 Q<Wg=2Q 1.250g |1z =[Q+ (Wg—Q) x1. 25]xUgxA

3 2Q0<Wq=4Q 1.550q [z =[Q+1.25Q+ (Wg—2Q) x1.55]xUgxA

4 4Q0<Wq=8Q 1.93Uq |1z 7 =[Q+1.25Q+2x1.55Q+ (Wq—4Q) x1. 93 IxUgxA
Yo7 =[Q+1.25Q+2x1. 55Q +4x1. 93Q+ (Wg—8Q) x

<

5 8Q<Wg=16Q 2.41U0q 2. 41 xUgxA
[ S

6 160<1Vq 30 Yo7 =[Q+1. 25Q+2x1. 55Q +4x1. 93Q+8x2. 41Q+

(Wg—16Q) x3 IxUgxA

wriWg=7 = 8 ima Aok (GD/20F)

Ug=kKEA*E § (/WD)

Q=1 %¥FH o FAKEXECM/ 2 F); A =% 24 g fHF(2F)

Fow 2o ~oRFA S F 4 (COD-SS)

A s ok (mg/L) EAE: KA ey P E o

1 Ed=Cp 1Up |4 % =EdxQuxUp/1000

2 | Cp<BEd=1.25Cp | 1.32Up |1 % =[Cp-+(Ed—Cp)xL. 32]xQuxUp/1000
B _

3 | 1.95Co<Fd=1.5Cp | 1.74Up o =[Cp+0. 25Cpx1. 32+ (Ed—1. 25Cp)x1. 74 ]xQwx
Up/1000
fc % = [Cp+0. 25Cpx1. 32+ 0. 25Cpx1. 74+ (Ed—

<

4| L5Cp<BA=L.T5Co | 2.3000 | "] o0 00

o7 =[Cp+0.25Cpx1. 32+0. 25Cpx1. 74+ 0. 25Cpx
<

o | LToCp<Bd=2Cp | 3.03Up |9 g0\ 5q 1 750p)3. 03 xQuxlip/1000

o % =[Cp+0. 25Cpx1. 32+ 0. 25Cpx1. 74+ 0. 25Cpx
<

6 | 20p<Ed=2.5Cp 4D 1o 3040, 25px3. 03+ (Ed— 2Cp)xd IxQuxUp/ 1000
o % =[Cp+0. 25Cpx1. 32+ 0. 25Cpx1. 74+ 0. 25Cpx

7 | 2.5Cp<Ed=3Cp | 5.29Up [2.3040.25Cpx3. 03+0. 5Cpxd + (Ed—2. 5Cp)x5. 29]x
QwxUp/1000
Jc% =[Cp+0. 25Cpx1. 32+ 0. 25Cpx1. 74+ 0. 25Cpx

8 3Cp<Ed TUp 2.3040. 25Cpx3. 03+0. 5Cpx4 +0. 5Cpxb. 29+ (Ed—

3Cp)XT IxQwxUp/1000

A= P E T RKFRESE FE AR KETE W)
Ed=3%5 3 44 * = #2322 R F(ng/L) : Cp=3%38 73 %4 2 7 J R T2 (mg/L)
Up=3%3F 13 % 4 2 fe A f (= /kg)




w2z oRERABEFE (£45)
R 15 -k (mg/L) A BT F o B PR 3t OGP
1 Ed=Lq 0p |fc% =0
2 Lq<Ed=Cp 0.5U0p |4c% = [(Ed—La)x0. 5 ]xQuxUp/1000
BB B B OK TR BT KK R B
3 Cp<Ed ?1 A E }\,;;r \?;IEA‘T’]IF _\»J.f;
AFE= ‘1(;: = \'
A B Rk F (mg/L) S & KA B PR A
1 Cp<Ed=1. 25Cp 1.32Up |1 % =[(Ed—Cp)xl. 32 IxQuxUp/1000
éﬂ, —
9 1.25Cp<Ed=1.5Cp 1. T4Up ; i‘éoxii/fg;é 82+ (Ed -1.25Cp) x
<% =[0.25Cpx1. 32+0. 25Cpx1. T4+ (Ed
3 1.5Cp<Ed=1. 75Cp 2. 30Up f p>x2.3g]waxUp/1000p
o % =[0. 25Cpx1. 32+ 0. 25Cpx1. T4+
4 1. 75Cp <Ed < 2Cp 3.03Up |0, 25Cpx2. 30+ (Ed— 1. 75Cp)x3. 03]x
QuxUp/1000
fc 3 = [0. 25Cpx1. 32+ 0. 25Cpx1. T4+
5 2p<Ed= 2.5Cp AUp |0, 25Cpx2. 30+0. 25Cpx3. 03+ (Ed—2Cp)x
4]xQuxUp/1000
fc % =[0. 25Cpx1. 32+ 0. 25Cpx1. T4+
6 9.5Cp < Ed = 3Cp 5.29Up  |0. 25Cpx2. 30+0. 25Cpx3. 03+ 0. 5Cpx4 +
(Ed—2. 5Cp)x5. 29 1xQw xUp/1000
Fc 2 = [0. 25Cpx1. 32+ 0. 25Cpx1. T4+
7 3Cp < Ed TUp 0. 25Cpx2. 30+ 0. 25Cpx3. 03+ 0. 5Cpxd +
0. 5Cpxb. 29+ (Ed—3Cp) xT]xQwxUp/1000

DiQu= S A TORRFERES S Ak aE
I3 P g 2 iRk BT R % (mg/L) 5 Cp=77
AR P2 K F (mg/L)
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B Fr 2y EE(~/ke)
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A K (mg/L) S RS S
1 Ed=Cp Up |fc% =0
2 Cp<Ed=1. 25Cp 1.32Up |3 = [Cpx0+ (Ed—Cp)x1. 32 IxQwxUp/1000
Yo 7 =[Cpx0+0. 25Cpx1. 32+ (Ed—1.25Cp) x1. 74]x
<
3 | 1.25Cp<Ed=1.5Cp | 1.74Up QuxUp/1000
»]3:?53 =[Cpx0+0. 25Cpx1. 32+ 0. 25Cpx1. 74+ (Ed—
<
4 | 1.5Cp<Ed=1.75Cp | 2.30Up 1. 5Cp)x2. 30 Jx@wxUp/1000
»]3:?53 =[Cpx0+0. 25Cpx1. 3240. 25Cpx1. 744 0. 25Cpx
<
g 1. 7oCp<Ed=2Cp 3. 03Up 2. 30+ (Ed—1. 75Cp)x3. 03 JxQwxUp/1000
fop = [Cpx0-+0. 25Cpx1. 32+0. 25Cpx1. 74+0. 25Cpx
<
6 | 2lp <Ed = 25001 AUb o 35 ") 9500x3.03 + (Bd—20p) x4] xQuxUp/1000
»]3:?53 =[Cpx0+0. 25Cpx1. 3240. 25Cpx1. 744 0. 25Cpx
7 12.5Cp < Ed = 3Cp| 5.29Up |2.30+0.25Cpx3. 03+ 0. 5Cpx4 + (Ed—2. 5Cp)x5. 29 ]
Qw xUp/1000
Yo 7 =[Cpx0+0. 25Cpx1. 32+0. 25Cpx1. 74+ 0. 25Cpx
8 3Cp < Ed Up 2.3040. 25Cpx3. 03+ 0. 5Cpx4 + 0. 5Cpxh. 29+ (Ed—

3Cp) xT71xQwxUp/1000

EoQu=r 2 B F A ERAKERE )  Bd=3%98 75 A4 7 7 B2 K (ng/L)
Co=3%71 7% 4 2 T KK FlREmg/L) 5 Up=357775 %% 2 fe 3 ¥ i (=/kg)
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1 Cpe=pH=Cps 0Up ‘1’(%’3 =0
! pH<7. 0 1Up
2 Yo 7 =QwxUp
pH>10.0 1Up
1 Cpr=pH=Cpu 0Up ’]/{?f =0
ﬁ pH<2.0 1Up
2 a Yo 7 =QwxUp
pi>4.0 1Up
1 Cp.=pH=Cps 0Up ‘1’(%‘3 =0
i
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1 Ed=Cp 0Up Yo =0
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3 1.5Cp<Ed = 3Cp 3Up 1z 7 =QwxUpx3
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%3 IEFRAEFRFEPB RS RARE LR e AL E G2
Hi L&A E Sl kot B
7 KR S 3¢ , 3 , B e g it % ES A o
(%/n3) (=/Kg) (=/Kg) | (=/Kg) | (*/Kg)

k& 5,000 9.67| *k¥% 45.90 100 100} 39,500( 7,900| 1,580 790 790 790 790 | 1,580 790 | 1,580 | 7,900 305 305 | 1,000 | 1,000 | 1,000 | 1,000 | 1,000
b 500 36.45( 299.43| 211.36 100 100 39,500 | 7,900 1,580 790 790 790 790 | 1,580 790 | 1,580 | 7,900 305 305 (1,000 |1,000 ({1,000 |1,000 (1,000
48 5,000 13.98 46.77| 44.96 100 100 39,500 (| 7,900 | 1,580 790 790 790 790 | 1,580 790 | 1,580 | 7,900 305 305 (1,000 |1,000 (1,000 |1,000 (1,000
R | 3,500 17. 61 89.33| 159.47 100 100 39,500 | 7,900 | 1,580 790 790 790 790 | 1,580 790 | 1,580 | 7,900 305 305 (1,000 |1,000 ({1,000 1,000 (1,000
Fra 12,500 10. 44 42.96| 80.57 100 100 39,500 (| 7,900 | 1,580 790 790 790 790 | 1,580 790 | 1,580 | 7,900 305 305 (1,000 |1,000 (1,000 |1,000 (1,000
By 18, 000 11.92 12.63( 34.88 100 100 39,500 | 7,900 | 1,580 790 790 790 790 | 1,580 790 | 1,580 | 7,900 305 305 (1,000 |1,000 ({1,000 1,000 (1,000
& L 16, 000 10. 26 22.38| 94.77 100 100 39,500 (| 7,900 | 1,580 790 790 790 790 | 1,580 790 | 1,580 | 7,900 305 305 (1,000 |1,000 (1,000 |1,000 (1,000
Fe ) 2 3, 547 9.21 43.12| 84.61 100 100 39,500 7,900 | 1,580 790 790 790 790 | 1,580 790 | 1,580 | 7,900 305 305 | 1,000 | 1,000 | 1,000 | 1,000 | 1,000
~ 7 28,000 11.59 19.41 68. 51 100 100 39,500 (| 7,900 | 1,580 790 790 790 790 | 1,580 790 | 1,580 | 7,900 305 305 (1,000 |1,000 (1,000 |1,000 (1,000
L} 35,100 6.18 20. 46 93. 09 100 100 39,500 7,900 | 1,580 790 790 790 790 | 1,580 790 | 1,580 | 7,900 305 305 | 1,000 | 1,000 | 1,000 | 1,000 | 1,000
40 %F 11,000 18. 37 45.48| 151.20 100 100 39,500 (| 7,900 | 1,580 790 790 790 790 | 1,580 790 | 1,580 | 7,900 305 305 (1,000 |1,000 (1,000 |1,000 (1,000
o 20,000 6. 87 15.11 52. 83 100 100 39,500 7,900 | 1,580 790 790 790 790 | 1,580 790 | 1,580 | 7,900 305 305 | 1,000 | 1,000 | 1,000 | 1,000 | 1,000
$57% Rk 17,’,0207(’ goﬁ)& 16. 63 64.54| 91.12 100 100 39,500 | 7,900 | 1,580 790 790 790 790 | 1,580 790 | 1,580 | 7,900 305 305 (1,000 |1,000 ({1,000 1,000 (1,000
Yy %111}25;41’330 36.10 46.69| 45.24 100 100 39,500 (| 7,900 | 1,580 790 790 790 790 | 1,580 790 | 1,580 | 7,900 305 305 (1,000 |1,000 (1,000 |1,000 (1,000
;_?;,% %1?1331-41!530 45. 69 59.09| b57.25 100 100 39,500 | 7,900 | 1,580 790 790 790 790 | 1,580 790 | 1,580 | 7,900 305 305 (1,000 |1,000 ({1,000 1,000 (1,000
Bk msEerlr | 56.40| 72.95| 70.68 100 100| 39,500 | 7,900 | 1,580 790 790 790 790 | 1,580 790 | 1,580 | 7,900 305 305 |1,000 |1,000 |1,000 |1,000 |1,000
$%ER

i;%i{_ 16. 49 64.54| 91.12 100 100 39,500 (| 7,900 | 1,580 790 790 790 790 | 1,580 790 | 1,580 | 7,900 305 305 (1,000 |1,000 (1,000 1,000 (1,000
1%&%

; ;;i{— 56. 40 72.95| 70.68 100 100 39,500 | 7,900 | 1,580 790 790 790 790 | 1,580 790 | 1,580 | 7,900 305 305 (1,000 |1,000 ({1,000 1,000 (1,000
1%&%

;2;1{— 16. 49 64.54| 91.12 100 100 39,500 | 7,900 | 1,580 790 790 790 790 | 1,580 790 | 1,580 | 7,900 305 305 (1,000 |1,000 ({1,000 1,000 (1,000
ARG 8, 000 17.57 64.54| 91.12 100 100 39,500 (| 7,900 | 1,580 790 790 790 790 | 1,580 790 | 1,580 | 7,900 305 305 (1,000 |1,000 (1,000 |1,000 (1,000
3 i 16, 000 12. 65 41.37| 146.23 100 100 39,500 | 7,900 | 1,580 790 790 790 790 | 1,580 790 | 1,580 | 7,900 305 305 (1,000 |1,000 ({1,000 1,000 (1,000
fﬁz#_ 13,000 17. 45 79.13| 76.28 100 100 39,500 | 7,900 | 1,580 790 790 790 790 | 1,580 790 | 1,580 | 7,900 305 305 (1,000 |1,000 ({1,000 1,000 (1,000
ij*?‘ff' » '”'ff 7| 32.48| 96.89| 101.07| 100 100| 39,500 7,900 | 1,580 | 790 | 790 | 790 | 790 | 1,580 | 790 | 1,580 |7,900 | 305 | 305 |1,000 [1,000 1,000 [1,000 |1,000
% 3 12,000 9.93 50.30| 133.14 100 100 39,500 | 7,900 1,580 790 790 790 790 | 1,580 790 | 1,580 | 7,900 305 305 | 1,000 | 1,000 | 1,000 | 1,000 | 1,000
% 2,500 13.15 44.65| 51.03 100 100 39,500 | 7,900 | 1,580 790 790 790 790 | 1,580 790 | 1,580 | 7,900 305 305 (1,000 |1,000 ({1,000 1,000 (1,000
¥ 11,000 12.58 28.03| 50.22 100 100 39,500 | 7,900 | 1,580 790 790 790 790 | 1,580 790 | 1,580 | 7,900 305 305 (1,000 |1,000 ({1,000 |1,000 (1,000
i 10,000 9.73 29.40| 86.46 100 100 39,500 7,900 | 1,580 790 790 790 790 | 1,580 790 | 1,580 | 7,900 305 305 | 1,000 | 1,000 | 1,000 | 1,000 | 1,000
A B 4,400 9.72 25.77| 63.11 100 100 39,500 7,900 | 1,580 790 790 790 790 | 1,580 790 | 1,580 | 7,900 305 305 | 1,000 | 1,000 | 1,000 | 1,000 | 1,000




%3 IEFRAEFRFEPB RS RARE LR e AL E G2
Hi L&A E Sl kot B
5 ok " N M . 4w
(% /n3) (= /kg) (=/Kg) | (=/Kg) | (*/Ke)

e 28,000 19.74| 43.87| 82.26 100 100 39,500 | 7,900 | 1,580 790 790 790 790 | 1,580 790 | 1,580 | 7,900 305 305 (1,000 |1,000 |1,000 (1,000 |1,000
& 7,000 8.45 18.63| 35.41 100 100 39,500 7,900 1,580 790 790 790 790 | 1,580 790 | 1,580 | 7,900 305 305 | 1,000 | 1,000 | 1,000 | 1,000 (1,000
3 5, 263 9.78| 42.93| 123.38 100 100} 39,500 | 7,900 | 1,580 790 790 790 790 | 1,580 790 | 1,580 | 7,900 305 305 | 1,000 | 1,000 | 1,000 | 1,000 (1,000
B &L 400 30.23 78.72| 189.59 100 100} 39,500 | 7,900 | 1,580 790 790 790 790 | 1,580 790 | 1,580 | 7,900 305 305 (1,000 |1,000 |1,000 (1,000 |1,000
A 84,000 3.36| AR | FAcR| AR | AEP| PP | AR | FRF | AR [ FRE | FRP | FRE [ B | FRF | B | FRE [FRE (PR (FRE [PRE [PRE [FRE PKRE
ki ! 108, 000 3.14| 20.22| 47.14 100 100 39,500 7,900 1,580 790 790 790 790 | 1,580 790 | 1,580 | 7,900 305 305 | 1,000 | 1,000 | 1,000 | 1,000 (1,000
TRis 40,000 6. 30 62.44| 88.15 100 100 39,500 7,900 1,580 790 790 790 790 | 1,580 790 | 1,580 | 7,900 305 305 | 1,000 | 1,000 | 1,000 | 1,000 (1,000
< 30, 000 9.48 42.25| 57.56 100 100 39,500 7,900 1,580 790 790 790 790 | 1,580 790 | 1,580 | 7,900 305 305 | 1,000 | 1,000 | 1,000 | 1,000 (1,000
Ba 8,000 17.63| 41.02| 80.40 100 100 39,500 | 7,900 | 1,580 790 790 790 790 | 1,580 790 | 1,580 | 7,900 305 305 (1,000 |1,000 |1,000 (1,000 |1,000
Py 9,600 11.46 79.89| 225.56 100 100} 39,500 | 7,900 | 1,580 790 790 790 790 | 1,580 790 | 1,580 | 7,900 305 305 (1,000 |1,000 |1,000 (1,000 |1,000
Rz 600 36.31| #ic}| *ic} 100 100 39,500| 7,900( 1,580 790 790 790 790 | 1,580 790 | 1,580 | 7,900 305 305 ( 1,000 | 1,000 | 1,000 | 1,000 | 1,000
) 110# 23.37 92.06| 94.77 100 100} 39,500 | 7,900 | 1,580 790 790 790 790 | 1,580 790 | 1,580 | 7,900 305 305 (1,000 |1,000 |1,000 (1,000 |1,000
T m ;23 25.24 99.68| 102.63 100 100 39,500 | 7,900 | 1,580 790 790 790 790 | 1,580 790 | 1,580 | 7,900 305 305 (1,000 |1,000 |1,000 (1,000 |1,000
5 56, 000 7.87 19.43| 75.82 100 100 39,500 7,900 1,580 790 790 790 790 | 1,580 790 | 1,580 | 7,900 305 305 | 1,000 | 1,000 | 1,000 | 1,000 (1,000
X4 28,000 7.05 24.29| 93.53 100 100 39,500 7,900 1,580 790 790 790 790 | 1,580 790 | 1,580 | 7,900 305 305 | 1,000 | 1,000 | 1,000 | 1,000 (1,000
Fres 51,500 7.89 29.24| 87.50 100 100 39,500 7,900 1,580 790 790 790 790 | 1,580 790 | 1,580 | 7,900 305 305 | 1,000 | 1,000 | 1,000 | 1,000 (1,000
2 6, 000 13.37 52.66| 49.56 100 100 39,500 | 7,900 | 1,580 790 790 790 790 | 1,580 790 | 1,580 | 7,900 305 305 (1,000 |1,000 |1,000 (1,000 |1,000
EL 16, 000 9.42 27.83| 76.07 100 100 39,500 7,900 1,580 790 790 790 790 | 1,580 790 | 1,580 | 7,900 305 305 | 1,000 | 1,000 | 1,000 | 1,000 (1,000
L33 12, 000 11.37 31.35| 54.79 100 100} 39,500 | 7,900 | 1,580 790 790 790 790 | 1,580 790 | 1,580 | 7,900 305 305 (1,000 |1,000 |1,000 (1,000 |1,000
ALFE AR 350 45.00) AP | AR | ARF| AR AR | ARFE | FRE | AR [ FRE [ AR [ FkE | B | FRE | B |FRE (B |FRE [FRkE [2RE O [PRE [P PokE
Al 14,500 9.72 22.83| 32.23 100 100 39,500 7,900 1,580 790 790 790 790 | 1,580 790 | 1,580 | 7,900 305 305 | 1,000 | 1,000 | 1,000 | 1,000 (1,000
“H3 20,000 31.47 91.89| 96.07 100 100} 39,500 | 7,900 | 1,580 790 790 790 790 | 1,580 790 | 1,580 | 7,900 305 305 (1,000 |1,000 |1,000 (1,000 |1,000
22,600 7.44 16.50| 25.00 100 100 39,500 7,900 1,580 790 790 790 790 | 1,580 790 | 1,580 | 7,900 305 305 | 1,000 | 1,000 | 1,000 | 1,000 (1,000

- 1:11;102173!«;6 7.80 17.40| 26.30 100 100 39,500| 7,900 ( 1,580 790 790 790 790 | 1,580 790 | 1,580 | 7,900 305 305 | 1,000 | 1,000 | 1,000 | 1,000 (1,000

- 151};3;316 8.20 18.30 27.70 100 100 39,500 7,900 1,580 790 790 790 790 | 1,580 790 | 1,580 | 7,900 305 305 | 1,000 | 1,000 | 1,000 | 1,000 (1,000
lglfgu ! 8.60 19.30 29.10 100 100 39,500 7,900 1,580 790 790 790 790 | 1,580 790 | 1,580 | 7,900 305 305 | 1,000 | 1,000 | 1,000 | 1,000 (1,000

AL 1,200 29. 92 62.86| 84.45 100 100} 39,500 | 7,900 | 1,580 790 790 790 790 | 1,580 790 | 1,580 | 7,900 305 305 (1,000 |1,000 |1,000 (1,000 |1,000




